#= 1

;)2‘

Z

\

&
A
{:/(

=
—

~)
7
=
D
=

A=

M

" 1 25000 5
¢ -
[(»EIJEff L%o< litmf?&rfmﬁﬁ (%E;)R 1JHf 1258 1
IR 2T DI55100%, B RO R OAEGRES7:
FAURZRB2200, |

0 %05Mm%-

BREZOEE |SEMBORIER

X & % & |0-8827

TR =0

XEBEOREH |[ZEESETRE/EELELE

| Ao
g

EKEAN X

60

LJ
Ao

Bt

9.8 Cf

O ks s
S Q & 40

g; & %b 9\313 ;

X @@Q% /% /\

30

TR K ERANE A X 1

IR RFERR C ]
.

S al 192,500
) b 0 %\\ﬁ\

/1]

50 100 m—
3 mo —

(@)

CORERIF, ZREEAEICLSMPBRIC. RAICLIREREREZLILLOTHY., —BELO>TRASGEEN/HYFET.

FHLE EREHRICE RS,




+ d“ﬁé%%ﬂ[ﬂi%a&iﬂ(#)w 1%)

Eﬁ%‘l’ﬁﬁiﬁ SF24%E18318




B+ REHH

=
I:II
AN
e

i

RE)

2418318
X () @

E R

e —,

(R E)

A

T REHRT- M IRES

£ L

AERMOAER

-8827

il

E

1—:§:~I

iy
EfRE)IBT LS

000)

o

ih
(S=1/25,

B X

2 SN
a7 5 =

=
2

DEF/EFNIEELN, |

il

DERDEK

=]
L

FREES R

-

[

Py
=]

FEER)R 1UHF 1258 ) T REL R ZE R T 515

e = 7K

H D= T Hb g

-

[

3
<.
.

=
==8

T

3
18R 3

5N

0N

=

&

eSS
%?ﬂ \

I




THREEREASHER

HX 41 _ | SAEERE S22 1H31H
BmEs | 8827 [ &ma ] ITHED [ il | REEsehRal B Ehe
g - . \@ N
/_JI
00 » S_)

140 H
Bt | e
BEKF q B |

BEIZLD BEHE
. AD =
> TRREEHES C__ | o
KN/m” "
BEILD AN
ii@&g 100kN/m* %82 % K i3 - 1130 10
R E R X
ZTORDR I 100.0 1.0
Iy
. Y e ]




THREEREASHER

X 4—2 _ RAEMERE 2 HF2F1H31H
BmEs | T -8827 [ &ma | THED [ it | BEbeemzellEEhE
/

N

Iy
12

140

Bt

o
; @ =
m 75
HIEICKDN \ Q
[ ’ HHEIZLD p -
LR EER R C_ )| & -
KN/m? "

N7A- A NEN

HEE N 3mE _ _
1 Bz HEs
RHBRESE | wors 1.7 2.7 2 \\ 1:1 ’000\
LB At (7 0 50 - \100
= \ m-—
wamonystasxs___ ) / / I .
ST e S A NN




